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| ook at an unused file

Cover the look ahead
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QUIZ
FOLLOWS



T or F:
f incr. on (2,3)
= f/>0o0n (2,3)

(a) True

(b)[False
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a4 [71/2] — 77

(a) DNE
(b)[1/2] [771/2]

() 7/2(In 7)

(d) none of the above

0% 0% 0% 0%
Correct answer: 0O . 5 . -
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go over Version A of Midterm 01

QUIZ
FOLLOWS



2 la (22 + 42— 1)]

dx

(a) la(2z 4+ 4)

(b) |la (2 + 42 — 1)| [2z + 4]

(©) 2x + 4
2+ 4r — 1

(d) none of the above
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R Vv > ™
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% [Ia ((:c2 + 4 — 1)1/3)]

2r + 4
(a) 3 224401
4 \1/3

(b)( 2—|-433—1)

(C) § (a:22—|£—CZ—L|:c4— 1)_2/3

(d) none of the above

0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

0of 5 Topic 0390 O pts




LOOK AHEAD

antideriv of 3 w.r.t.
(indef) integral of z3 w.r.t.

principle of logarithmic differentiation
(d/dz)(2%), (d/dx)(x~°>T)

(d/dz)(/z), (d/dx)(1oga(x))

derivs of arcsin, arccos
derivs of arctan, arccot

linear find-e problem
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